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QUESTION 1

Refer to the exhibit. 

A network administrator is validating client connectivity and executes the show command shown in the exhibit. Which
authentication method was used by the wireless station? 

A. 802.1X user authentication 

B. EAP authentication 

C. 802.1X machine authentication 

D. MAC authentication 

Correct Answer: C 

 

QUESTION 2
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Refer to the exhibit. 

A network administrator completes the initial configuration dialog of the Mobility Controllers (MCs) and they join the
Mobility Master (MM) for the first time. After the MM-MC association process, the network administrator only creates AP
groups, VAPs, and roles. Next, the network administrator proceeds with the configuration of the policies and creates the
policy shown in the exhibit. 

Which additional steps must be done to make sure this configuration takes effecr over the contractor users? 

A. Apply the policy in the contractors user role. Enable deep packet inspection. 

B. Apply the policy in the contractors user role. Enable deep packet inspection. Reload the MCs. 

C. Enable the firewall visibility. Enable web-content classification Reload the MCs. 

D. Enable firewall visibility Enable web-content classification Reload the MMs. 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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A network administrator deploys a new WLAN named Corp-Network. The security suite is WPA2 with 802.1X. A new
ClearPass server is used as the authentication server. Connection attempts to this WLAN are rejected, and no trace of
the attempt is seen in the ClearPass Policy Manager Access Tracker. However, the network administrator is able to see
the logs shown in the exhibit. 

What must the network administrator do to solve the problem? 

A. Add the correct network device IP address in ClearPass. 

B. Change the ClearPass server IP address in the MC. 

C. Fix the RADIUS shared secret in the MC. 

D. Disable machine authentication in the MC and client PC. 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 

Based on the output shown in the exhibit, which channel offers the highest quality? 

A. Channel 1 

B. Channel 6 

C. Channel 11 

D. Channel 14 

Correct Answer: C 
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QUESTION 5

Refer to the exhibit. 

A network administrator deploys a Mobility Master (MM)-Mobility Controller (MC) network with APs in different locations.
Users in one of the locations report that the WiFi network works fine for several hours, ang then they are suddenly
disconnected. The symptom may happen at any time, up to three times every day, and lasts no more than two minutes. 

After some research, the network administrator logs into the MM and reviews the output shown in the exhibit. 

Based on this information, the network administrator logs into the MM and reviews the output shown in the exhibit. 

Based on this information, what is the most likely reason users get disconnected? 

A. AirMatch is applying a scheduled optimization solution. 

B. Users in the 2.4 GHz band are being affected by high interference. 

C. Adpative Radio Management is reacting to RF events. 

D. AirMatch is reacting to non-scheduled RF events. 

Correct Answer: B 
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